- Organic Chemlstry Revxew
t »

'Determine which word fits the following definitions best. Unscramble the circled .
etters in each of the answers to soive the puzzie, PR

1. Organic compound contaunng-a carbon- carbon double bond. _ _0'_, -

2. Orgamc compound that contams double, or tnp}e carbon- carbon bonds
T e e o) — _ (2 words) _

3. Organic compound c:ontajm'ng a carbon'-ca}bon triple bond.

4. 'Com_pound that has the same molecular formuia as. another compound but a.

different molecular structure, ___ 0
5. A method of nam:ing organic compounds. (J___ _ '_'__, 0__
6. Hydrocarbon that contains only smgle covalent bonds. _ O —_—
7. Any organic compound that contains only carbon and hydrogfm ———— O._, ————

8. A saturated continuous-chain hydroc‘arbon with seven c:arb'ons

- 9 All combustion reactions of hydrocarbons produces. wlltcr and
Qf L e e O~ _{2words). - :

“10.  An alkane ring with the molecular formula CH, _______ 0---

Puzzle: H you're not part of the solution you must be part of the

Circle and name gpe of the functional group(s) in:

Il
a. /C\C/C\ b.

H3C OH : NH; -
, H; H O/W | 2

N . om_A @
How many bonds does carbon form? Does this molecule, w “H, seem io

obey tha_t rule? What molecule is this?
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Provide correct IUPAC names for the following compounds:
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3. Propy benzune
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. What twe atoms make up a hydrocarbon? -

Which atom has the unique abxhty to bond to itself formmg long chains and to bond to

other atoms?




Name the typé of molecule each or anic compound is (look at.their
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1. How do structural formulas differ from molecular formulas?

2. Explain why hydrocarbons with only single bonds cannot form geometric isomers.

3. What is the difference between aldehydes and ketones?

~NEY .



4. Fach of the following names implies a structure but is not a correct TUPAC name.
For each example, draw the implied structural formula and write the correct

TUPAC name.
a. 3-bromopropane

b. 3, 4-dichloro-4-pentene

5. For the functional groups, list a property or use of each

6. Draw and name the isomers of Cghlis



